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x0 =
(0, 0) � x1 = (0, 1) � x2 = (1, 0) � x3 = (1, 1) " # �����	 !��
��	 ��$ ���	� ��$
!��

a = (a1, a2)
�
b = (b1, b2) "

%&'&(& ) *+* , -./01 2.3- 4./1 25
a ∗ b = (a1b2, |a1b1 − b2|)

%&'&(& ) *6 * 7 -8 -90.:. ; 0.::8
a ∗ b = (|a2b1 − a1b2|, |a1b1 − a2|)

%&'&(& ) *) * <=>1 :8?@2A ; 0.::8
a ∗ b = (a2b1, a1b2)

%&'&(& ) *B * C A0.-A D:E0:8
a ∗ b = (|a1a2 − b1b2|, |a2 − b1|)

%&'&(& ) *F * G -H-A ; I :H1 :5
a ∗ b = (|a1b1 − b2|, |a2 − b1|)

%&'&(& ) *J * K =9.-A L :3:H0
a ∗ b = (|a2b1 − a1b2|, |a1b1 − a2b2|)

%&'&(& ) *M * L :@:N-1 -A0 OA2H80.0
a ∗ b = (|a2 − b1|, |a2b2 − b1|)

%&'&(& ) *P * QR:N-A0 S0H?T.0
a ∗ b = (|a1b1 − a2|, a1b2)

%&'&(& ) *U * V 2H1 2.3- 7 08 21 :T
a ∗ b = (|a2 − 1|b2, |a2 − b1|)

%&'&(& ) *+W * XTR.-5Y,1 2/:E:.
780/:I :1
a ∗ b = (|a1 − 1|b2, a1b2)

%&'&(& ) *++* S:>0.-A 7T@2R8 0A
a ∗ b = (|a2 − 1|b2, |a2b2 − b1|)

%&'&(& ) *+6 * ZH3:. 41H 2I
a ∗ b = (a1b2, |a1a2 − b1b2|)

%&'&(& ) *+) * [ 0H10A30 41H 2I
a ∗ b = (|a1b1 − a2b2|, a1b2)

%&'&(& ) *+B * \21 A08 ?/ 780/:R8 0A
a ∗ b = (|a1b1 − b2|, |a1a2 − b1b2|)


